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JIEIE ZINE4 [ GROSS | HDCP | NET %= JEAE ZiNEA M GROSS | HDCP | NET 1%

g_%) ABE 8L 47 47| 12.0/ 35.0 41 iz il fh— 49 49| 10.8| 38.2
LR | A F 5 41 41 6.0/ 35.0 42 fir | A SR 48 48 9.6, 38.4
(Ofr | A £ 40 40f 4.8] 35.2 43 4L | RA)I] ERRE 417 47{ 8.4 38.6
[OGAETEES 40 40] 4.8] 352 E 4 IEik 52 52| 13.2| 38.8
OV 7 | it 3B 45 45| 9.6| 35.4 AL 46 6] 7.2 38.8
() hr | ik e 45 45| 9.6] 35.4 46 07 | /By Pk 46 46 2] 38.8
COAL | A 38 38| 2.4/ 35.6/BG 47 (L |88 =& 51 51, 12.0] 39.0
@) i | #IE Tk 50 50| 14.4] 35.6 48 i HO FH 45 45 6.0/ 39.0
[OFEAE S 43 43 2 358 49 fir | 4B —7E 45 45| 6.0 39.0
(10) hz [ #Fr Efe 42 42] 6.0 36.0 GO | Tm pE 45 45| 6.0] 39.0
Q)1 | /17 Fns 47 47] 10.8] 36.2 51 fif |0 Bk 63 63 24.0] 39.0
12 {7 |E %ZE 41 41 4,81 36.2 52 fir | K ST 43 43 3.6| 30.4
13 fir | SE7E TEA 47 47| 10.8| 36.2 53 fif | F L =EH 55 55| 15.6] 39.4
14 {if | T SCHE 46 46 9.6/ 36.4 54 {if | Mg FEHE 49 49 9.6] 39.4
(5) fir | T B85 52 52| 15.6| 36.4 (651 | 4wt B 48 48 8.4| 39.6
16 fif |d et 52 52{ 15.6| 36.4 56 ff | 35 5B 54 54| 14.4] 39.6
17 L | 7B &E 45 45 841 36.6 57 ff| T &k 41 41 1.2 39.8
18 i [ b4 A 51 51 14.4| 36.6 58 fir | thifi R&ia 58 58 18.0| 40.0
19 {7 |4&H E— 50 50f 13.2| 36.8 59 {if | HEFY B4 46 46 6.0 40.0
(20) 4z | %% B 43 43 6.00 37.0 (60 )z | EP 3k 52 521 12.0] 40.0
21 {i | H % 49 49| 12.0] 37.0 61 47 | dbh £9 46 46| 6.0 40.0
G2 |l o 48 48| 10.8| 37.2 62 fir | AR EfE 52 52| 12.0] 40.0
23| =k #N 42 42| 4.8 37.2 63 fir [ ML B 52 52| 12.0] 40.0
24 i |lOF % 54 54{ 16.8| 37.2 64 L | = F FeiE 51 511 10.8 40.2
() fir | Biks H= a7 47] 9.6| 37.4 (65)hr | = 5 48 48] 7.2| 40.8
26 fir |k B— 47 470 9.6 37.4 (66) 0L | i#)1| ik 48 48 .21 40.8
27 i | N = 47 47 9.6] 37.4 67 i | B4 Bt 54 54| 13.2] 40.8
28 {if | FIL 4T 53 53| 15.6] 37.4 68 {ir | (LM BE 53 53| 12.0) 41.0
29 {i |FEH BrE 47 47 9.6 37.4 69 {ir | IR¥T IEH 59 59| 18.0] 41.0
GOz | e« A& BE 53 53] 15.6] 37.4 (70 fir | N3 #FHE 52 52| 10.8] 41.2
31 fir |BEE B— 52 52| 14.4] 37.6 (B B) @ Eh 46 46| 4.8] 41.2
32 fif |fEx A 16 46| 8.4] 37.6 (B MIF{E: B 52 52| 8.4 43.6
(G3)fr | | BT 46 46 4| 37.6
34 fir P W 40 40| 2.4| 37.6
GO | 1L B =ER 39 39| 12| aus
36 4 | L B RE 57 57] 19.2] 37.8
37 ALK £k 39 39 1.21 378
38 fir | HH == 44 44 6.0/ 380
39 fr | 5F Y 44 44 6.0/ 38.0
(40) hr | K3 1 49 49| 10.8] 38.2




